

## **Buddha Teas**

5130 Avenida Encinas, Carlsbad, CA 92008

Phone: (800) 642-3754

## Minimum Advertised Pricing Agreement

BUDDHA TEAS LLC, desires to maintain price integrity for its products which are offered on certain e-commerce websites. This MAP Agreement protects the value of our brands and maintains a level playing field for dealers to preserve their ability to compete and maintain a healthy profit margin.

This MAP agreement must be signed in order to receive shipments from Buddha Teas.

## THE MAP POLICY:

- 1. The MAP Policy applies to all Buddha Teas items offered on **Amazon.com**, **Ebay.com**, **Sears.com** or any other marketplace including retail websites.
- 2. The MAP pricing for Buddha Teas products is our published MSRP(Attached).
- 3. MAP pricing does not apply to Buddha Teas products which are either discontinued or on closeout.
- 4. Special offers must follow the MAP pricing guideline and do not cause an exception to MAP.
- 5. This MAP agreement does not establish a maximum advertised price.
- 6. This MAP agreement applied only to advertised prices in the above listed websites and does not apply to the retail price which the product is actually sold. Buddha Teas dealers may choose to sell Buddha Teas products at any price within their retail location or over the phone.
- 7. "Buy Now" options must be listed at a price equal to MAP or greater
- 8. For auctions without a "Buy Now" option, the reserve and/or opening bids must start at MAP.
- 9. "Best Offer" auctions are permitted.
- 10. Buddha Teas reserves the right to limit the number of approved retailers selling on the above listed web sites *or similar websites*.
- 11. Free merchandise may not be offered specifically with Buddha Teas merchandise unless such offer applies to all items being sold on your website.
- 12. Buddha Teas does not intend to do business with retailers that degrade the image of Buddha Teas and its merchandise. If dealer's MAP is not adhered to after three warnings delivered either by phone, email, US Mail or fax, Buddha Teas may terminate the dealer's wholesale account permanently.

Complete all fields. Enter "none" or "n/a" if not applicable. By signing this agreement, you agree to be bound by the above terms and conditions and bind all of your employees, affiliates and resellers.



**BUDDHA TEAS**5130 Avenida Encinas, Carlsbad, CA 92008 | (800) 642-3754 | Service@BuddhaTeas.com

Matcha Now™	Retail	Wholesale	Case (12 Bottles)	Master Case (6 Cases)	Quantity
Matcha Now™ - 100% Pure	\$3.49	\$2.32	\$27.84	\$167.04	
Matcha Now™ - Lightly Sweet	\$3.49	\$2.32	\$27.84	\$167.04	
CBD Tea	Retail	Wholesale	Case (6 Boxes)	Master Case (6 Cases)	Quantity
CBD Turmeric & Ginger Tea	\$19.99	\$13.32	\$79.92	\$479.52	
CBD Mint Tea	\$19.99	\$13.32	\$79.92	\$479.52	
CBD Chamomile Blend	\$19.99	\$13.32	\$79.92	\$479.52	
CBD Matcha Green Tea	\$19.99	\$13.32	\$79.92	\$479.52	
Matcha Tins	Retail	Wholesale	Case (6 tins)	Master Case (6 Cases)	Quantity
Ceremonial Matcha Tin - 30g	\$24.99	\$16.65	\$99.90	\$599.40	
Tea Blends	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantity
Calm Buddha Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Cold Weather Karma Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Digestive Nirvana Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Divine Immunity Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Pure Mind Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Skinny Buddha Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Sleepy Temple Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Zen Clense Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Zen-ergy Blend	\$8.99	\$5.99	\$35.94	\$215.64	
Chakra Teas	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantity
4th Chakra Tea	\$8.99	\$5.99	\$35.94	\$215.64	
5th Chakra Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Crown Chakra Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Root Chakra Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Sacral Chakra Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Solar Plexus Chakra Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Third Eye Chakra Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Green Teas	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantity
Dragonwell Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Genmaicha Green Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Gunpowder Green Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Gyokuro Tea	\$19.99	\$13.32	\$79.92	\$479.52	
Matcha Green Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Saffron Green Tea	\$12.99	\$8.65	\$51.90	\$311.40	
Sencha Green Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Black Teas	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantity
Assam Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Darjeeling Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Earl Grey Tea	\$9.99	\$6.65	\$39.90	\$239.40	
English Breakfast Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Japanese Cherry Blossom Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Specialty Teas	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantity
Chai Tea	\$7.99	\$5.32	\$31.92	\$191.52	

Dark Roast Yerba Maté Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Feverfew Lemongrass Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Oolong Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Pu-Erh Tea	\$9.99	\$6.65	\$39.90	\$239.40	
White Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Yerba Maté Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Fruit Teas	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantit
Pineapple White Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Rich Raspberry Pu-erh	\$7.99	\$5.32	\$31.92	\$191.52	
Sweet Strawberry Ginger	\$7.99	\$5.32	\$31.92	\$191.52	
Wild Blueberry Black Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Herbal Teas	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantit
Acai Berry & Green Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Alfalfa Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Anise Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Ashwagandha Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Astragalus Root Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Bilberry Tea	\$8.49	\$5.66	\$33.96	\$203.76	
Bitter Melon Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Black Cohosh Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Blackberry Leaf Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Burdock Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Calendula Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Cat's Claw Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Chaga Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Chamomile Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Chickweed Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Corn Silk Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Cranberry & Green Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Cranberry Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Damiana Tea	\$8.49	\$5.66	\$33.96	\$203.76	
Dandelion Leaf Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Dandelion Root Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Dong Quai Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Elderberry Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Eucalyptus Tea	\$6.99	\$4.65	\$27.90	\$167.40	
European Peppermint Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Eyebright Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Fennel Seed Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Fenugreek Seed Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Flax Seed Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Ginger Root Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Gingko Biloba Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Goldenseal Tea	\$9.99	\$6.65	\$39.90	\$239.40	
Gotu Kola Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Gymnema Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Hawthorn Berry Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Hawthorn Leaf Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Hibiscus tea	\$6.99	\$4.65	\$27.90	\$167.40	1

Holy Basil Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Hops Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Horsetail Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Hyssop Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Jasmine Flower Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Juniper Berry Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Herbal Teas	Retail	Wholesale	Case (6 boxes)	Master Case (6 Cases)	Quantity
Kava Kava Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Lavender Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Lemon Balm Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Lemongrass & Green Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Licorice Root Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Linden Tea	\$8.49	\$5.66	\$33.96	\$203.76	
Marshmallow Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Milk Thistle Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Moringa Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Mugwort Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Mullein Leaf Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Nettle Leaf Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Oatstraw Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Oregano Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Papaya Leaf Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Parsley Leaf Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Passion Flower Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Pau d'Arco Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Plantain Leaf Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Raspberry Leaf Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Red Clover Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Reishi Mushroom Tea	\$8.99	\$5.99	\$35.94	\$215.64	
Rooibos Red Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Rose Hips Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Rosemary Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Sage Leaf Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Sarsaparilla Root Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Saw Palmetto Tea	\$7.49	\$4.99	\$29.94	\$179.64	
Senna Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Skullcap Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Spearmint Tea	\$6.99	\$4.65	\$27.90	\$167.40	
St. John's Wort Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Thyme Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Turmeric Ginger Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Uva Ursi Tea	\$7.99	\$5.32	\$31.92	\$191.52	
Valerian Root Tea	\$8.99	\$5.99	\$35.94	\$215.64	
White Horehound Tea	\$7.99	\$5.32	\$31.92	\$191.52	
White Oak Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Wild Cherry Bark Tea	\$6.99	\$4.65	\$27.90	\$167.40	
Yarrow Tea	\$6.99	\$4.65	\$27.90	\$167.40	